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1. oo frferes <o of2 ojef < : 1x5=5
Fill up the blanks of the following :

(a) 9FTIN @R SHR @R TS A 90
FACA 5IfP® BIORF —— @I |
Centrally located a sterile column of

tissues found in the sporophyte of
Anthoceros is called —.

(b) THIFA TR @I R ——

Tfene ot 91 |
The spore-bearing organ ‘sporocarp’ is
found in — plant.
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(c) AXSTF'T AT W1IMB —— Tfers coirar 7 | '

The organ rhizophore is found in —— J
plant. E

(d) RS R —— v corr 7 |

Winged pollen grains are found in —— ’
plant.

(e) TR Sfewa woTE —— | )

The endosperm of gymnosperm is —.

2. oy Teq fra :
Give short answer :
(@) wwmw\wwﬁﬁm
e fern 3

Write different methods of vegetative
reproduction met in bryophytes.

(b) =2 AR @EEGAT Racm o w41 3
Describe about the strobilus of £
Lycopodium. :

(c) =2em Tfere ol i G I SRR g
SR@T 4 | 3

Write the pteridophytic characters
present in Cycas.
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(3)

. Coge oo 9w oF ¥g'th9r (A9eR Sfena T

eErd < il | P arem (o oft s
e Rcaea <9127 R R o7 ) 6+4
With a suitable diagram, compare the
sporophytes of Riccia and Anthoceros. Which

one of them is considered by you as
advanced? Give reasons.

2T/ Or

TR @4a e Tidorrs foq i fofzrs i |
G7'5R R Sfewa iRl Trad 4 | 6+4
Draw and label the longitudinal sectional
view of the sporophyte of Marchantia

Mention the significance of the sporophyte of
Anthoceros.

(@) IAXEFTE? TCOFRR @ T SRS 4
fifea s fac & 2+5
What is rhizophore? Write different

morphological interpretations of the
sporocarp of Marsilea

241/ Or

QNE 52 3RO P9 oA a1
sifRfa cafiErTE SEe w41 2+5
What is sporangiophore? Write the

anatomical peculiarities of the stem of
Equisetum.
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(4)

(b) IO E TR L IR @A-IHIR WA
erS Gl 31 7

Compare the spore-producing organ of
Equisetum and Ophioglossum.
3/ Or

AR e G I T |
Describe the life history of Polypodium.

5. %eq fa/Rge Reaa R @1 (R @ 1) -
' 5x2=10
Answer/Give explanatory notes on (any two) :
(a) AP TG WF 2N SR e W
T g IF o AR

Why is Gnetum considered as linking
bridge in between gymnosperms and
angiosperms?

(b) TR e T Rer

Development of male gametophyte of
Cycas

(c) %= Frgs 3

Describe the female cone of Pinus.
(d) T=RE SR IF

Classification of gymnosperms

* %k
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